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QUESTION BANK 
CLASS 12TH 

CHEMISTRY 
UNIT-1 

ASSERTION REASON QUESTIONS 
Instructions:  
Select the correct option for each Assertion-Reason question. 
(A) Both assertion and reason are correct, and the reason is the correct explanation of assertion. 
(B) Both assertion and reason are correct, but the reason does not explain the assertion. 
(C) Assertion is correct, but the reason is incorrect. 
(D) Assertion is incorrect, but the reason is correct. 
Ǔनदȶश :-  

1. Ĥ×येक Ĥæन मɅ एक कथन (A) तथा कारण (R) Ǒदया गया है।  
2. आपको दोनɉ कथनɉ का सावधानीपूव[क ͪवæलेषण करके सहȣ उƣर का चयन करना है: 

A) A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया करता है। 
B) A और R दोनɉ सहȣ हɇ, लेͩकन R, A कȧ सहȣ åयाÉया नहȣं करता। 
C) A सहȣ है, लेͩकन R गलत है। 

      D) A गलत है, लेͩकन R सहȣ है। 

 
Ĥæन सÉंया / 

Question 
Number 

Assertion-Reason Question 

1 Assertion (A): ͩकसी गैस कȧ ͪवलयन मɅ ͪवलेयता तापमान बढ़ने पर घटती है। 

Reason (R): उÍच तापमान पर गैस अणुओं कȧ गǓतज ऊजा[ अͬधक होती है, िजससे वे ġव सतह से अͬधक 

आसानी से बाहर Ǔनकल जात ेहɇ। 
 
Assertion (A): The solubility of a gas in a liquid decreases with increasing temperature. 
Reason (R): Gas molecules have higher kinetic energy at higher temperatures, leading to 
increased escape from the liquid surface. 

2 Assertion (A): घोल कȧ मोलरता तापमान के साथ बदलती है। 

Reason (R): मोलरता आयतन पर Ǔनभ[र करती है, जो तापमान मɅ पǐरवत[न के साथ घटता या बढ़ता है। 
 
Assertion (A): Molarity of a solution changes with temperature. 
Reason (R): Molarity depends on volume, which expands or contracts with temperature 
changes. 
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3 Assertion (A): हेनरȣ का Ǔनयम कहता है ͩक ͩकसी गैस कȧ ͪवलेयता उसके आंͧशक दाब के समानुपाती होती   

है। 

Reason (R): दाब बढ़ाने से अͬधक गैस अणु ͪवलयन मɅ Ĥवेश करत ेहɇ। 
 
Assertion (A): Henry’s law states that the solubility of a gas in a liquid is directly proportional 
to the partial pressure of the gas above the liquid. 
Reason (R): An increase in pressure increases the gas molecules entering the solution. 

4 Assertion (A): राउãट का Ǔनयम केवल आदश[ ͪवलयनɉ पर लागू होता है। 

Reason (R): आदश[ ͪवलयन मɅ घुले पदाथ[ और ͪवलायक के बीच समान अंतःअणकु बल होते हɇ। 
 
Assertion (A): Raoult's law is applicable to ideal solutions only. 
Reason (R): Ideal solutions exhibit uniform intermolecular interactions between solute and 
solvent molecules. 

5 Assertion (A): िèथरÈवाथी ͧमĮण पूरȣ संघटन सीमा मɅ राउãट के Ǔनयम का पालन नहȣं करता। 

Reason (R): िèथरÈवाथी ͧमĮणका Ǔनिæचत Èवथनांक होता है और आसवन के दौरान वे एक घटक कȧ तरह 

åयवहार करत ेहɇ। 
 
Assertion (A): Azeotropic mixtures do not obey Raoult's law over the entire range of 
composition. 
Reason (R): Azeotropes have constant boiling points and behave as single components 
during distillation. 

6 Assertion (A): अनादश[ ͪवलयन (Non-ideal solutions) कभी-कभी सकारा×मक या नकारा×मक ͪवचलन 

Ǒदखाते हɇ। 

Reason (R): अनादश[ ͪवलयन मɅ अंतःअणकु बल आदश[ ͪवलयनɉ से ͧभÛन होते हɇ। 
 
Assertion (A): Non-ideal solutions sometimes show positive or negative deviations. 
Reason (R): Non-ideal solutions exhibit intermolecular forces different from those in ideal 
solutions. 

7 Assertion (A): Èवथनांक का उÛनयन एक अणुसंÉय गुणधम[  है। 

Reason (R): अणुसंÉय गुण ͪवलयन मɅ उपिèथत ͪवलेय के कणɉ कȧ सÉंया पर Ǔनभ[र करते हɇ, उनके Ĥकार 

पर नहȣं। 
 
Assertion (A): Elevation of boiling point is a colligative property. 
Reason (R): Colligative properties depend on the number of solute particles present in the 
solution, not their identity. 
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8 Assertion (A): ͪवलेय कȧ उपिèथǓत से ͪवलयन का Ǒहमांक ǒबदं ुकम हो जाता है। 

Reason (R): ͪवलेय अणु ͪवलयन मɅ ͪवलायक के Ǒहमांक को बाͬधत करते हɇ, िजससे Ǒहमांक अवनमन 

(Freezing point depression) होता है। 
 
Assertion (A): The presence of a solute lowers the freezing point of a solution. 
Reason (R): Solute molecules disrupt the freezing process of the solvent, leading to freezing 
point depression. 

9 Assertion (A): असमाÛय आिÖवकġåयमान वॉÛट हॉफ फैÈटर के कारण होता है। 

Reason (R): आयǓनक यौͬगक ͪवलयन मɅ अपूण[ आयनन या सगंुणन  के कारण असामाÛय आिÖवकġåयमान 

Ĥदͧश[त कर सकत ेहɇ। 
 
Assertion (A): Abnormal molecular masses occur due to the Van't Hoff factor. 
Reason (R): Ionic compounds can exhibit abnormal molecular masses due to incomplete 
ionization or association in solution. 

10 Assertion (A): ͪवलेय कȧ मोलर सांġता का Ǔनधा[रण परासरण दाब ɮवारा ͩकया जा सकता है। 

Reason (R): परासरण दाब अणुसंÉय गुणɉ मɅ से एक है और ͪवलेय के कणɉ कȧ सÉंया पर Ǔनभ[र करता है। 
 
Assertion (A): The molar concentration of a solute can be determined using osmotic 
pressure. 
Reason (R): Osmotic pressure is a colligative property and depends on the number of solute 
particles present in the solution. 

Multiple Choice Questions (1 Mark) 
Q.No. Question 

1 Which of the following is an example of a solid solution? 

Ǔनàनͧलͨखत मɅ से कौन एक ठोस ͪवलयन का उदाहरण है? 

(A) Bronze / कासंा  

(B) Sugar in water / पानी मɅ चीनी 

(C) Oxygen in water / पानी मɅ ऑÈसीजन 

(D) Ethanol in water / पानी मɅ एथेनॉल 

2 Which unit is commonly used to express the concentration of a solution? 

ͩकस इकाई का उपयोग आमतौर पर ͩकसी ͪवलयन कȧ सांġता को åयÈत करने के ͧलए ͩकया जाता है? 

(A) Pascal / पाèकल 
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(B) Molarity / मोलरता 

(C) Joule / जूल 

(D) Newton / Ûयूटन 

3 Henry’s law states that the solubility of a gas in a liquid is directly proportional to its: 
हेनरȣ का Ǔनयम कहता है ͩक ͩकसी ġव मɅ गैस कȧ ͪवलेयता के समानुपाती होती है: 

(A) Temperature / तापमान 

(B) Pressure / दाब 

(C) Volume / आयतन 

(D) Density / घन×व 

4 Which of the following follows Raoult’s law? 
Ǔनàनͧलͨखत मɅ से कौन राउãट   का Ǔनयम मानता है? 

(A) Ideal solutions / आदश[ ͪवलयन 

(B) Colloids / कोलॉइɬस 

(C) Suspensions / Ǔनलंबन 

(D) Emulsions / इमãशन 

5 Colligative properties depend on: 
अणुसंÉय  गुण Ǔनभ[र करते हɇ: 

(A) Nature of solute / ͪवलेय कȧ ĤकृǓत 

(B) Number of solute particles / ͪवलेय कणɉ कȧ सÉंया 

(C) Volume of solution / ͪवलयन का आयतन 

(D) Density of solvent / ͪवलायक का घन×व 

6 Which colligative property is used to determine the molecular mass of a solute? 
कौन सा अणुसंÉय  गुण ͪवलेय के आिÖवक ġåयमान का Ǔनधा[रण करने के ͧलए उपयोग ͩकया जाता है? 

(A) Relative lowering of vapour pressure / वाçप दाब का सापे¢ अवनमन 

(B) Osmotic pressure / परासरण दाब 

(C) Boiling point elevation / Èवथनांक मɅ उÛनयन  

(D) All of above / उपरोÈत सभी   

7 Van’t Hoff factor is denoted by: 
वाÛट हॉफ गुणांक को ͩकस Ĥतीक से दशा[या जाता है? 

(A) i / i 
(B) k / k 
(C) mobserved / mcalculated 
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(D) x / x 

8 Which equation represents the relationship between osmotic pressure and concentration? 

कौन सा समीकरण परासरण दाब और सांġता के बीच संबंध दशा[ता है? 

(A) π = CRT 
(B) P = nRT 
(C) V = nRT/P 
(D) PV = k 

9 Abnormal molecular mass occurs due to: 

असामाÛय आिÖवकġåयमान ͩकसके कारण होता है? 

(A) Association or dissociation of solute / ͪवलेय का संयोजन या ͪवयोजन  

(B) Increase in temperature / तापमान मɅ वɮृͬध 

(C) Increase in pressure / दाब मɅ वɮृͬध 

(D) Change in volume / आयतन मɅ पǐरवत[न 

10 What is the effect of adding a non-volatile solute to a solvent on its boiling point? 

ͩकसी अवाçपशील ͪवलेय को ͪवलायक मɅ जोड़ने पर उसका Èवथनांक पर Èया Ĥभाव पड़ता है? 

(A) Increases / बढ़ता है 

(B) Decreases / घटता है 

(C) Remains unchanged / अपǐरवǓत[त रहता है 

(D) First decreases then increases / पहले घटता है ͩफर बढ़ता है 

 

One Word Answer Questions(1 Mark) 
Q. No. Question 
1 वह ͪवलयन कौन सा होता है िजसमɅ ͪवलायक धात ुहोती है? / What type of solution 

contains a metal as solvent? 
2 ͩकस  ͪवͬध  का उपयोग ठोस के ġव मɅ ͪवलयन कȧ साġंता को मापने के ͧलए ͩकया 

जाता है? / Which expression is used to measure the concentration of a solution 
of a solid in a liquid? 

3 गसैɉ कȧ ͪवलेयता तापमान बढ़न ेपर कैसे बदलती है? / How does the solubility of 
gases change with an increase in temperature? 

4 ͩकस Ĥकार का ठोस ͪवलयन धात ुͧमĮ धातओु ंका ĤǓतǓनͬध×व करता है? / What type 
of solid solution represents metal alloys? 

5 राउãट  के Ǔनयम के अनसुार, ͪवलयन के वाçप दाब का अवनमन  ͩकस पर Ǔनभ[र करता 
है? / According to Raoult's law, on what does the lowering of vapor pressure of a 
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solution depend? 
6 कोई भी अणुसÉंय   गणु ͩकस पर Ǔनभ[र करता है? / On what factor does any 

colligative property depend? 
7 कौन सा अणुसÉंय  गणु जलȣय ͪवलयन के Èवथनांक मɅ वɮृͬध स ेसबंंͬ धत है? / Which 

colligative property is related to the elevation of boiling point in an aqueous 
solution? 

8 परासरण  दाब को Ǔनधा[ǐरत करने के ͧलए ĤयÈुत समीकरण Èया है? / What is the 
equation used to determine osmotic pressure? 

9 अणुसÉंय   गणुɉ के उपयोग स ेआिÖवक ġåयमान का Ǔनधा[रण करने कȧ ͪवͬध का नाम 

Èया है? / What is the name of the method used to determine molecular mass 
using colligative properties? 

10 वाÛट हॉफ गणुांक (i) का उपयोग ͩकस ͪवचलन को समझान ेके ͧलए ͩकया जाता है? / 
Van’t Hoff factor (i) is used to explain which deviation? 

 

2 Marks Questions 

Question 
No. 

Question 

1 Explain why water and ethanol form an azeotropic solution.  
जल और एथेनॉल एक िèथरÈवाथी ͧमĮण Èयɉ बनात ेहɇ, èपçट करɅ। 

2 Why does the solubility of gases in liquids decrease with an increase in 
temperature? Explain with an example.  
गसैɉ कȧ ͪवलेयता तापमान बढ़न ेपर Èयɉ घटती है? उदाहरण सǑहत èपçट करɅ। 

3 Derive the mathematical expression for Raoult's law for a binary solution.  
एक ɮͪवघटकȧ ͪवलयन के ͧलए राउãट का Ǔनयम का गͨणतीय åयजंक åय×ुपÛन करɅ। 

4 Why do non-volatile solutes cause elevation in boiling point of a solvent? 
Explain with the equation.  
अवाçपशील ͪवलेय ͪवलायक के Èवथनांक को बढ़ाने का कारण बनत ेहɇ, इसे समीकरण 

सǑहत समझाइए। 
5 How is osmotic pressure related to molar concentration of solute in a solution? 

Derive the equation.  
परासरण दाब ͪवलयन मɅ ͪवलेय कȧ मोलर साġंता स ेकैस ेसबंंͬ धत है? समीकरण 

åय×ुपÛन करɅ। 
6 Explain how abnormal molecular masses are determined using colligative 

properties.  
अणुसÉंय गणुɉ का उपयोग कर असामाÛय आिÖवकġåयमान कȧ गणना कैसे कȧ जाती 
है, èपçट करɅ। 

7 What is Van’t Hoff factor? How does it affect colligative properties?  
वाÛट हॉफ गणुांक Èया है? यह अणुसÉंय गणुɉ को कैसे Ĥभाͪवत करता है? 

8 Why does the relative lowering of vapor pressure depend only on the mole 
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fraction of solute?  
वाçप दाब मɅ सापेͯ ¢क अवनमन केवल ͪवलेय के मोल अशं पर Ǔनभ[र Èयɉ करता है? 

9 Differentiate between ideal and non-ideal solutions based on Raoult's law.  
राउãट के Ǔनयम के आधार पर आदश[ एव ंअनादश[ ͪवलयन मɅ अतंर करɅ। 

10 Why does the freezing point of a solution decrease when a non-volatile solute is 
added?  
जब ͩकसी अवाçपशील ͪवलेय को जोड़ा जाता है तो ͪवलयन का Ǒहमांक Èयɉ घटता है? 

11 A solution is prepared by dissolving 5 g of a non-volatile solute in 95 g of water. 
The vapour pressure of pure water is 24 mm Hg. Calculate the vapour pressure 
of the solution. (Molar mass of solute = 50 g/mol) 
5 g  अवाçपशील ͪवलेय को 95 g जल मɅ घोलकर एक ͪवलयन तयैार ͩकया जाता है। 

शɮुध जल का वाçप दाब 24 mm Hg है। ͪवलयन का वाçप दाब £ात कȧिजए। (ͪवलेय का 
मोलर ġåयमान = 50 g/mol) 

12  1.5 M solution of NaCl shows an osmotic pressure of 7.5 atm at 27°C. Calculate 
the van’t Hoff factor. (R = 0.0821 L atm K⁻¹ mol⁻¹) 
NaCl का 1.5 M ͪवलयन 27°C पर 7.5 atm परासरण दाब दशा[ता है। वाÛट  हॉफ गणुांक 

£ात कȧिजए। (R = 0.0821 L atm K⁻¹ mol⁻¹) 
13 Calculate the molarity of a solution containing 10 g of glucose (C6H12O6) 

dissolved in 200 mL of water. (Molar mass of glucose = 180 g/mol) 
10 g Êलकूोज (C6H12O6) को 200 mL जल मɅ घोलने पर ͪवलयन कȧ मोलरता £ात 

कȧिजए। (Êलकूोज का मोलर ġåयमान = 180 g/mol) 
14 A solution containing 2.5 g of urea (Molar mass = 60 g/mol) in 100 g of water 

freezes at -0.5°C. Calculate the freezing point depression constant (Kf) of water. 
2.5 g यǐूरया (मोलर ġåयमान = 60 g/mol) को 100 g जल मɅ घोलने पर ͪवलयन -0.5°C 

पर जमता है। जल का Ǒहमांक अवनमन Ǔनयतांक (Kf) £ात कȧिजए। 
15 Calculate the relative lowering of vapour pressure when 1 mole of a solute is 

dissolved in 2 moles of solvent. 
जब 1 मोल ͪवलेय को 2 मोल ͪवलायक मɅ घोला जाता है, तो वाçप दाब का सापेͯ ¢क  
अवनमन £ात कȧिजए। 

16 A 0.2 molal aqueous solution of a non-volatile solute has a boiling point of 
100.52°C. Calculate the ebullioscopic constant (Kb) of water. 
एक 0.2 मोलल जल ͪवलयन का Èवथनांक 100.52°C है। जल का Èवथनांक उÛनयन 

Ǔनयतांक (Kb) £ात कȧिजए। 
17 Determine the osmotic pressure of a solution containing 5 g of sucrose 

(C12H22O11) in 250 mL of solution at 25°C. (Molar mass of sucrose = 342 g/mol, R 
= 0.0821 L atm K⁻¹ mol⁻¹) 
250 mL ͪवलयन मɅ 5 g सĐुोज (C12H22O11) को घोलने पर 25°C पर परासरण दाब £ात 

कȧिजए। (सĐुोज का मोलर ġåयमान = 342 g/mol, R = 0.0821 L atm K⁻¹ mol⁻¹) 
18 The molar mass of a solute determined using colligative properties is found to 

be different from its actual molar mass. Calculate the van’t Hoff factor if the 
observed molar mass is half of the theoretical molar mass. 
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अणुसÉंय गणुɉ का उपयोग करके Ǔनधा[ǐरत ͪवलेय का मोलर ġåयमान उसके वाèतͪवक 

मोलर ġåयमान स ेͧभÛन पाया जाता है। यǑद Ĥेͯ¢त मोलर ġåयमान सɮैधांǓतक मोलर 

ġåयमान का आधा है, तो वाÛट  हॉफ गणुांक £ात कȧिजए। 
19 Calculate the depression in freezing point when 10 g of NaCl is dissolved in 500 

g of water. (Kf for water = 1.86 K kg/mol, Molar mass of NaCl = 58.5 g/mol, i = 2) 
500 g जल मɅ 10 g NaCl को घोलने पर Ǒहमांक अवनमन £ात कȧिजए। (जल के ͧलए Kf = 

1.86 K kg/mol, NaCl का मोलर ġåयमान = 58.5 g/mol, i = 2) 
20 Determine the boiling point of a solution containing 1 mol of a non-volatile 

solute in 1 kg of water. (Kb for water = 0.52 K kg/mol) 
1 kg जल मɅ 1 मोल अ-वाçपशील ͪवलेय घोलने पर ͪवलयन का Èवथनांक £ात कȧिजए। 
(जल के ͧलए Kb = 0.52 K kg/mol) 

3 Mark Questions  
Question 
No. 

Question 

1 Explain different types of solutions with suitable examples. 
ͪवͧभÛन Ĥकार के ͪवलयन को उपयÈुत उदाहरणɉ के साथ समझाइए। 

2 Define mass percentage and mole fraction. How are they used to express the 
concentration of solutions? 
ġåयमान ĤǓतशत और मोल अशं को पǐरभाͪषत करɅ। इÛहɅ ͪवलयन कȧ साġंता åयÈत 

करने के ͧलए कैसे Ĥयोग ͩकया जाता है? 
3 State Henry’s law and explain its significance in daily life. 

हेनरȣ का Ǔनयम ͧलͨखए और दैǓनक जीवन मɅ इसके मह×व को समझाइए। 
4 What are solid solutions? Differentiate between substitutional and interstitial 

solid solutions. 
ठोस ͪवलयन Èया होत ेहɇ? ĤǓतèथापन एव ंअतंरकाशी ठोस ͪवलयनɉ मɅ अतंर बताइए। 

5 State Raoult’s law. How does it explain the lowering of vapor pressure? 
राउãट का Ǔनयम ͧलͨखए। यह वाçप दाब कȧ कमी को कैसे समझाता है? 

6 Define colligative properties. Why does the addition of a non-volatile solute 
elevate the boiling point? 
अणुसÉंय गणुɉ को पǐरभाͪषत करɅ। अवाçपशील ͪवलेय जोड़ने स ेÈवथनांक Èयɉ बढ़ता 
है? 

7 How does the depression in freezing point help in determining the molar mass 
of solute? 
Ǒहमांक अवनमन कैस ेͪवलेय के अणुभार का Ǔनधा[रण करने मɅ सहायक होता है? 

8 Explain osmotic pressure with a suitable example. How is it used to determine 
the molecular mass of a solute? 
परासरण दाब को उपयÈुत उदाहरण सǑहत समझाइए। इसे ͪवलेय के अणुभार के 

Ǔनधा[रण के ͧलए कैसे Ĥयोग ͩकया जाता है? 
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9 What is Van't Hoff factor? How does it affect colligative properties? 
वाÛट हॉफ गणुांक Èया होता है? यह अणुसÉंय गणुɉ को कैस ेĤभाͪवत करता है? 

10 Explain the concept of abnormal molecular mass. How does it arise? 
असामाÛय अणुभार कȧ सकंãपना को समझाइए। यह कैसे उ×पÛन होता है? 

11 एक ͪवलयन कȧ साġंता åयÈत करने कȧ ͪवͧभÛन ͪवͬधयɉ का ͪवæलेषण करɅ और बताएं 
ͩक ͩकस ͪवͬध का उपयोग ͩकस Ĥकार के अनĤुयोगɉ मɅ अͬधक उपयÈुत होता है। 
Analyze the different methods of expressing the concentration of a solution and 
explain which method is more suitable for different applications. 

12 यǑद एक गसै का ͩकसी ͪवलायक मɅ ͪवलेयता बढ़ानी हो, तो दाब और तापमान मɅ Èया 
पǐरवत[न करने चाǑहए? अपने उƣर कȧ åयाÉया करɅ। 
If the solubility of a gas in a solvent needs to be increased, what changes should 
be made to pressure and temperature? Justify your answer. 

13 राउãट के Ǔनयम के अपवादɉ को ͪवèततृ Ǿप स ेसमझाइए और इसका उपयोग उɮयोगɉ मɅ 
कहा ँͩकया जाता है? 
Explain in detail the deviations from Raoult's law and discuss its industrial 
applications. 

14 अणुसÉंय  गणुɉ का उपयोग करके ͩकसी अ£ात यौͬगक का आिÖवकġåयमान Ǔनधा[ǐरत 

करने कȧ ĤͩĐया का ͪवæलेषण करɅ। 
Analyze the process of determining the molecular mass of an unknown 
compound using colligative properties. 

15 एक ठोस ͪवलयन मɅ ͪवलायक और ͪवलेय कȧ भूͧ मकाओ ंकȧ तलुना करɅ और उदाहरण 

देकर समझाएं। 
Compare the roles of solvent and solute in a solid solution and explain with 
examples. 

16 यǑद ͩकसी ͪवलयन मɅ वाçपदाब अपेͯ¢त स ेअͬधक हो, तो इसका सभंाͪवत कारण Èया हो 
सकता है? अपने उƣर कȧ åयाÉया करɅ। 
If the vapor pressure of a solution is higher than expected, what could be the 
possible reason? Justify your answer. 

17 अǓतशीतलन  और Ǒहमांक मɅ अवनमन  कȧ अवधारणा को आपस मɅ जोड़कर 

समझाइए और इनके åयावहाǐरक अनĤुयोगɉ पर चचा[ करɅ। 
Relate the concept of supercooling and depression of freezing point, and discuss 
their practical applications. 

18 वॉÛट हाफ गणुांक  का Ĥयोग कर यह åयाÉया करɅ ͩक असामाÛय आिÖवक ġåयमान 

का Ǔनधा[रण कैस ेͩकया जाता है। 
Using Van't Hoff factor, explain how abnormal molecular mass is determined. 

19 एक उÍच ऊँचाई वाल ेèथान पर पानी का Èवथनाकं कम Èयɉ हो जाता है? इसे राउãट    

के Ǔनयम के सदंभ[ मɅ åयाÉया करɅ। 
Why does the boiling point of water decrease at high altitudes? Explain it in 
terms of Raoult's law. 



10 | P a g e  
 

20 अनसुÉंय गणुɉ पर आधाǐरत ͩकसी एक औɮयोͬगक अनĤुयोग का मãूयांकन करɅ और 

उसकȧ Ĥभावशीलता का ͪवæलेषण करɅ। 
Evaluate one industrial application based on colligative properties and analyze 
its effectiveness. 

21 A solution is prepared by dissolving 5 g of a non-volatile solute in 100 g of 
water. The vapour pressure of pure water is 23.8 mmHg, and the vapour 
pressure of the solution is found to be 23.4 mmHg. Calculate the molar mass of 
the solute. 
5 Ēाम अवाçपशील ͪवलेय को 100 Ēाम जल मɅ घोलकर ͪवलयन तयैार ͩकया जाता है। 

शɮुध जल का वाçप दाब 23.8 mmHg है और ͪवलयन का वाçप दाब 23.4 mmHg पाया 
जाता है। ͪवलेय का ġåयमान £ात करɅ। 

22 The solubility of oxygen gas in water at 293 K and 1 atm pressure is 0.031 g/L. 
Calculate its solubility when the pressure is increased to 2.5 atm. 
293 K और 1 atm दाब पर जल मɅ ऑÈसीजन गसै कȧ ͪवलेयता 0.031 g/L है। जब दाब 

2.5 atm तक बढ़ा Ǒदया जाता है, तो इसकȧ ͪवलेयता £ात करɅ। 
23 A solution containing 3 g of urea (molar mass = 60 g/mol) in 100 g of water boils 

at 100.18°C. Calculate the boiling point elevation constant (Kb) of water. 
100 Ēाम जल मɅ 3 Ēाम यǐूरया (मोलर ġåयमान = 60 g/mol) के घोल का Èवथनांक 

100.18°C है। जल का Èवथनाकं उÛनयन िèथराकं (Kb) £ात करɅ। 
24 A 1 M solution of NaCl shows an osmotic pressure of 4.6 atm at 300 K. Calculate 

the Van't Hoff factor (i) for NaCl. 
300 K पर NaCl के 1 M ͪवलयन का परासरण दाब 4.6 atm है। NaCl के ͧलए वाÛट  हॉफ 

गणुांक (i) £ात करɅ। 
25 2 g of a non-volatile solute is dissolved in 50 g of benzene. The freezing point of 

benzene is lowered by 0.6°C. Calculate the molar mass of the solute (Kf for 
benzene = 5.12 K kg/mol). 
2 Ēाम अवाçपशील ͪवलेय को 50 Ēाम बɅजीन मɅ घोला जाता है। बɅजीन का Ǒहमांक 0.6°C 

घट जाता है। ͪवलेय का मोलर ġåयमान £ात करɅ (बɅजीन के ͧलए Kf = 5.12 K kg/mol)। 
26 10 g of glucose (C6H12O6) is dissolved in 100 g of water. Calculate the relative 

lowering of vapour pressure of the solution. (Molar mass of glucose = 180 
g/mol) 
10 Ēाम Êलकूोज़ (C6H12O6) को 100 Ēाम जल मɅ घोला जाता है। ͪवलयन के वाçप दाब के 

साप¢े अवनमन  कȧ गणना करɅ। (Êलकूोज़ का मोलर ġåयमान = 180 g/mol) 
27 A 0.1 M aqueous solution of a substance exerts an osmotic pressure of 2.4 atm 

at 298 K. Determine the molar mass of the substance. 
 
ͩकसी पदाथ[ के 0.1 M जलȣय ͪवलयन का परासरण दाब 298 K पर 2.4 atm है। पदाथ[ का 
मोलर ġåयमान £ात करɅ। 

28 A solution is made by dissolving 0.5 g of a solute in 100 g of water. The solution 
freezes at -0.186°C. Calculate the molar mass of the solute. (Kf for water = 1.86 
K kg/mol) 
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100 Ēाम जल मɅ 0.5 Ēाम ͪवलेय घोलकर ͪवलयन तयैार ͩकया जाता है। ͪवलयन का 
Ǒहमांक -0.186°C है। ͪवलेय का मोलर ġåयमान £ात करɅ। (जल के ͧलए Kf = 1.86 K 
kg/mol) 

29 The vapour pressure of pure benzene at a certain temperature is 100 mmHg. 
When 2 g of a non-volatile solute is dissolved in 20 g of benzene, the vapour 
pressure decreases to 90 mmHg. Calculate the molar mass of the solute. 
ͩकसी Ǔनिæचत तापमान पर शɮुध बɅजीन का वाçप दाब 100 mmHg है। जब 2 Ēाम 

अवाçपशील ͪवलेय को 20 Ēाम बɅजीन मɅ घोला जाता है, तो वाçप दाब घटकर 90 mmHg 

हो जाता है। ͪवलेय का मोलर ġåयमान £ात करɅ। 
30 A solution of 1.5 g of a non-volatile solute in 150 g of water boils at 100.12°C. 

Calculate the molar mass of the solute. (Kb for water = 0.52 K kg/mol) 
150 Ēाम जल मɅ 1.5 Ēाम अवाçपशील ͪवलेय का घोल 100.12°C पर उबलता है। ͪवलेय 

का मोलर ġåयमान £ात करɅ। (जल के ͧलए Kb = 0.52 K kg/mol) 

 4 Marks Questions  
Question 
No. 

Question  

1 Explain with an example how the solubility of a gas in a liquid changes with 
temperature and pressure. Use Henry’s law to justify your answer. 𝑃 = 𝐾ு𝛘  
उदाहरण सǑहत समझाइए ͩक गसै कȧ ͩकसी ġव मɅ ͪवलेयता तापमान और दाब के साथ 

कैसे बदलती है। हेनरȣ के Ǔनयम का उपयोग करके अपने उƣर को Ĥमाͨणत करɅ। . 
𝑃 = 𝐾ு𝛘  

2 A solution of a non-volatile solute in a solvent shows a lower vapour pressure 
than the pure solvent. Explain the phenomenon using Raoult’s law. How does 
this concept help in determining the molecular mass of a solute? 𝑃஺ = 𝛘஺𝑃଴

஺ 
ͩकसी ͪवलायक मɅ एक अ-वाçपशील ͪवलेय का ͪवलयन शɮुध ͪवलायक कȧ तलुना मɅ कम 

वाçप दाब दशा[ता है। इस घटना को राउãट के Ǔनयम का उपयोग करके समझाइए। यह 

अवधारणा ͪवलेय के आिÖवकġåयमान का Ǔनधा[रण करने मɅ कैस ेसहायक होती है?   
3 A binary solution of two volatile liquids A and B follows Raoult’s law. Draw the 

vapour pressure vs mole fraction graph for such a solution and explain the 
deviations observed in non-ideal solutions. 
दो वाçपशील ġव A और B का एक ɮͪवघटकȧय ͪवलयन राउãट के Ǔनयम का पालन 

करता है। ऐस ेͪवलयन के ͧलए वाçप दाब बनाम मोल अशं का Ēाफ बनाइए और अनादश[ 
ͪवलयनɉ मɅ देख ेजान ेवाल ेͪवचलनɉ कȧ åयाÉया कȧिजए। 

4 A solution of glucose (C6H12O6) is prepared by dissolving 18 g of glucose in 90 g 
of water. Calculate the boiling point elevation of the solution, given that Kb for 
water is 0.52 K kg mol-1 . Explain the significance of this property. (ΔTb = Kb m) 

Êलकूोज (C6H12O6) का एक ͪवलयन 18 Ēाम Êलकूोज को 90 Ēाम जल मɅ घोलकर तयैार 

ͩकया जाता है। यǑद जल के ͧलए Kb = 0.52 K kg mol-1 है, तो इस ͪवलयन का Èवथनांक 
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वɮृͬध £ात कȧिजए। इस गणुधम[ के मह×व को समझाइए। (ΔTb = Kb m) 
5 A solution of NaCl in water freezes at a lower temperature than pure water. 

Explain this phenomenon with reference to colligative properties. Derive the 
relation (ΔTf = Kf m). 
जल मɅ NaCl का ͪवलयन शɮुध जल कȧ तलुना मɅ कम तापमान पर जमता है। इस घटना 
को अणुसÉंय गणुɉ के सदंभ[ मɅ समझाइए। समीकरण (ΔTf = Kf m) को åय×ुपÛन 

कȧिजए। 
6 Why do ionic compounds show abnormal molecular masses when determined 

using colligative properties? How does the Van’t Hoff factor correct the 
molecular mass calculation? (i = Observed molecular mass / Calculated 
molecular mass) 
आयǓनक यौͬगक अणुसÉंय गणुɉ का उपयोग करके Ǔनधा[ǐरत ͩकए जान ेपर असामाÛय 

आिÖवकġåयमान Èयɉ दशा[त ेहɇ? वाÛट  हॉफ गणुांक आिÖवकġåयमान कȧ गणना को 
कैसे सहȣ करता है? (i = वाèतͪवक आिÖवक ġåयमान / पǐरकͧलत आिÖवकġåयमान) 

7 Compare the osmotic pressure of a 0.1 M glucose solution with that of a 0.1 M 
NaCl solution. Justify your answer using Van’t Hoff’s equation. (Π = i C R T) 
 
0.1 M Êलकूोज ͪवलयन के परासरण दाब कȧ तलुना 0.1 M NaCl ͪवलयन स ेकȧिजए। 
वाÛट  हॉफ समीकरण का उपयोग करके अपने उƣर को Ĥमाͨणत कȧिजए। (Π = i C R T) 

8 Solid solutions exist in different types, such as substitutional and interstitial. 
Explain with suitable examples how these types of solid solutions affect the 
properties of the material. 
 
ठोस ͪवलयन ͪवͧभÛन Ĥकारɉ मɅ पाए जात ेहɇ, जैसे ĤǓतèथापन और अतंरकाशी। उͬचत 

उदाहरणɉ सǑहत समझाइए ͩक इन Ĥकारɉ का पदाथ[ के गणुɉ पर Èया Ĥभाव पड़ता है। 
9 The elevation in boiling point and depression in freezing point are directly 

proportional to molality. Explain with the help of mathematical derivations how 
this concept is applied in determining the molecular mass of an unknown 
solute. 
 
Èवथनांक मɅ उÛनयन और Ǒहमांक मɅ अवनमन दोनɉ हȣ मोललता के समानपुाती होत े

हɇ। गͨणतीय åय×ुपͪƣयɉ कȧ सहायता स ेसमझाइए ͩक यह अवधारणा अ£ात ͪवलेय के 

आिÖवक ġåयमान को Ǔनधा[ǐरत करने मɅ कैसे ĤयÈुत होती है। 
10 A pharmaceutical company needs to determine the molecular mass of an 

antibiotic using osmotic pressure measurements. Explain the steps and 
calculations involved in this determination. 
 
एक औषͬध Ǔनमा[ण कंपनी को ͩकसी ĤǓतजैͪ वक के आिÖवकġåयमान को परासरण दाब 

मापन ɮवारा Ǔनधा[ǐरत करना है। इस Ǔनधा[रण कȧ ĤͩĐयाओ ंऔर गणनाओ ंकȧ åयाÉया 
कȧिजए। 
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Case Study-Based Questions  
Q. No. Question 
1 Case Study 1:  

A soda bottle is sealed under high pressure to keep the carbon dioxide gas 
dissolved in the liquid. When the bottle is opened, bubbles appear due to the 
release of dissolved CO₂ gas. 
सोडा बोतल को उÍच दाब मɅ सील ͩकया जाता है ताͩक काब[न डाइऑÈसाइड गसै ġव मɅ 
घलुȣ रहे। जब बोतल खोलȣ जाती है, तो घलेु हुए CO₂ गसै के Ǔनकलने के कारण बलुबलु े

बनत ेहɇ। 

(a) Which law governs this phenomenon? / कौन सा Ǔनयम इस घटना को Ǔनयǒंğत 

करता है? (1 mark/अकं) 

(b) How does gas solubility depend on pressure and temperature? / गसै कȧ 
ͪवलेयता दाब और तापमान स ेकैस ेĤभाͪवत होती है? (1 mark/अकं) 

(c) How is this principle applied in industrial applications? / इस ͧसɮधांत को 
औɮयोͬगक अनĤुयोगɉ मɅ कैसे Ĥयोग ͩकया जाता है? (2 marks/अकं) 

2 Case Study 2: 
 In a liquid mixture, if an impurity is added to a volatile liquid, its vapor pressure 
decreases. 
एक ġव ͧमĮण मɅ, यǑद ͩकसी अèथायी ġव मɅ एक अशɮुͬध जोड़ी जाती है, तो इसका 
वाçप दाब घट जाता है। 

(a) Which law explains this phenomenon? / इस घटना को कौन सा Ǔनयम èपçट 

करता है? (1 mark/अकं) 
(b) On what factors does the partial vapor pressure of solution components 
depend? / ͩकसी ͪवलयन के घटकɉ का आंͧ शक वाçप दाब ͩकस पर Ǔनभ[र करता है? (1 

mark/अकं) 

(c) How is this law used in industrial processes? / इस Ǔनयम का उपयोग 

औɮयोͬगक ĤͩĐयाओ ंमɅ कैस ेͩकया जाता है? (2 marks/अकं) 
3 Case Study 3:  

Salt is spread on icy roads to melt the ice quickly. 
एक सड़क पर बफ[  को तजेी स ेͪपघलाने के ͧलए उस पर नमक Ǔछड़का जाता है। 

(a) Which colligative property explains this phenomenon? / इस घटना को कौन सी 
अणुसÉंय   गणुधम[ समझाती है? (1 mark/अकं) 

(b) Does this property depend on the nature or number of particles? / यह 

गणुधम[ अणओु ंकȧ ĤकृǓत पर Ǔनभ[र करता है या सÉंया पर? (1 mark/अकं) 

(c) How is this principle used in the pharmaceutical and food industry? / इस 

ͧसɮधांत को फामा[èयǑुटकल और खाɮय उɮयोग मɅ कैसे Ĥयोग ͩकया जाता है? (2 

marks/अकं) 
4 Case Study 4:  
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When aluminum sulfate (Al₂(SO₄)₃) is dissolved in water, its colligative 
properties show greater effects than expected. 
जब ऐलुͧ मǓनयम सãफेट (Al₂(SO₄)₃) को जल मɅ घोला जाता है, तो इसका अणुसÉंय   

गणु अपेͯ¢त स ेअͬधक Ĥभाव Ǒदखाता है। 

(a) What causes this deviation? / यह ͪवचलन ͩकस कारण स ेहोता है? (1 mark/अकं) 

(b) What is the role of the Van’t Hoff factor in this effect? / वांट  हाफ कारक का 
इस Ĥभाव मɅ Èया योगदान है? (1 mark/अकं) 
(c) What is the significance of this principle in biological and medical sciences? / 
इस ͧसɮधांत का जैͪवक और ͬचͩक×सा ͪव£ान मɅ Èया मह×व है? (2 marks/अकं) 

5 Case Study 5: 
 An unknown organic compound is dissolved in a solvent, and its boiling point is 
measured. It is found that the boiling point increases. 
एक ͪवलायक मɅ एक अ£ात काब[Ǔनक यौͬगक घोलकर उसका Èवथनांक मापा गया। यह 

पाया गया ͩक Èवथनांक मɅ वɮृͬध हुई। 
(a) Which principle helps determine the molecular mass of an unknown 
compound? / कौन सा ͧसɮधांत अ£ात यौͬगक के अण ुभार Ǔनधा[रण मɅ सहायता कर 

सकता है? (1 mark/अकं) 

(b) Explain the formula used in this process. / इस ĤͩĐया मɅ Ĥयोग ͩकए जान ेवाल े

सğू कȧ åयाÉया करɅ। (1 mark/अकं) 

(c) How is this method useful in the chemical industry? / यह ͪवͬध रासायǓनक 

उɮयोग मɅ कैस ेउपयोगी है? (2 marks/अकं) 
 

 


